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P 2T - OKE AR R
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o om g 4 |w wmei AH17H | 5H200 | 6A12H | TALTH
1 |- s “n L | 100 0 0 0 0
2 B BSh ghan | S [ BiEn | mitan s
S RIv AR XE O A W me/L | 0.003 — 0.0003 A3t — —
41k 82 K Y F O & & | mg/L | 0.0005 — 0.00005 K7t — —
5l L v & % ok & W me/L | 0.01 — 0.001 A — —
68 & 8 = o &t A W meL | 0.01 — 0.001 A — —
Tle % Kk 8 £ O & & ¥ me/L | 0.01 — 0.00 1A — —
8N i 2 = & b & | me/L | 0.02 — 0.002 A i — —
9 [® 4§ B e = H| mgL | 0.04 — 0.004 i — —
107 kA4 kOt 7| mg/L | 0.01 — 0.00 1A — —
11 @y W fe 22 % % OY R Al A% B % #E| me/L | 10 — 0.5 — —
1217 v % K 00 % o b & % mgL | 0.8 — 0.32 — —
13l 7 #F Kk O 0k & % mgL | 1.0 — 0. 1A i — —
14 |by #H 1k R F| mg/L | 0.002 — 0.0002 A7 — —
151,4- ¥ £ % ¥ mgL | 0.05 — 0.005 A i — —
16|72 T Y] me [ 0.0 — o004k | — —
171 7 0w oowm A & | mg/L | 0.02 — 0.002 A7 — —
18 ~ 3 7 m v = F L ¥ mgl |0.01 — 0.001 A — —
9| V 7 B 8 = F L o mgL |0.01 — 0.001 ¥ — —
20 [~ v + | me/t | 0.01 — 0.00 1A — —
21 |4 ES k| me/L | 0.6 — 0.06 A i — —
22 |7 = = e | me/L | 0.02 — 0.002 A7 — —
23l = = & A Al mgL | 0.06 — 0.004 — —
24l 27 9w w  EE Bl mg/L | 0.03 — 0.003 A i — —
%y 7 v ® 7 v 2 % o meL | 0.1 — 0.001 A — —
26 | & e M| me/L | 0.01 — 0.001 AT — —
oThe U v = 2 & | mgL | 0.1 — 0.006 — —
28 V7 =m v EE  EB| me/L | 0.03 — 0.003 A i — —
297 v = ¥ 27 v u 2% o me/l |0.03 — 0.002 — —
07 v = &x mg/L | 0. 09 — 0.001 ATif — —
31f&x & 7 A F v K| mgL |0.08 — 0.008 AT — —
208 4 K O F o b & W meL | 1.0 — 0.05A i — —
BT A= AR BEDOAA Y mgL | 0.2 — 0.02A i — —
Mk & = o b & ¥ meL | 0.3 — 0.03 A3 — —
Bl & ™ o b & W met | 1.0 — 0.05A i — —
367 RV Y A K E DAL A W] meL | 200 — 6 — —
Ml v v k% 0t & | meg/L | 0.05 — 0.005ATii — —
38l b w4 A | mgL | 200 4 3 3 4
9Py on, v 7 xvr % (HE) mg/L 300 — 35 — —
40 |74 7 b33 ¥ ¥ me/L | 500 — 66 — —
411k 4 A v o IF M Al met | 0.2 — 0.02A 5t — —
42 1> - 7 2 2 | mg/L | o0.00001 — 0.000001 A ¥ — —
132 = 2 F v 4V FE AL F A — | meL | 000001 — 0.000001 AJif — —
4413 4 A& v Fom I M Al me/ | 0.02 — 0.002 A — —
4517 = 2 — 4 M| me/r | 0.005 — 0.0005 A4 — —
46|H5 H  ( TOC © & )| mg/L 3 0.4 0.4 0.6 0.4
47 o H fit oy 7.6 7.5 7.4 7.3
48 S PO BEAL | BEAL | BREARL | BEARL
49 | = & SO BEaL | BEEaaL | BERL | BERL
50 | Bl OB 5 1A 1A i 1A i 1 At
51 | O 2 0.1A | O.1ANM | 0.1 | 0.1
53 o oy #| mg/L | o018k 0.3 0.3 0.2 0.3
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o om g 4 |w wmei AH17H | 5H200 | 6A12H | TALTH
1 |- s “n L | 100 0 0 0 0

2 B BSh ghan | S [ BiEn | mitan s
S RIv AR XE O A W me/L | 0.003 — 0.0003 A3t — —
41k 82 K Y F O & & | mg/L | 0.0005 — 0.00005 K7t — —
5l L v & % ok & W me/L | 0.01 — 0.001 A — —
68 & 8 = o &t A W meL | 0.01 — 0.001 A — —
Tl F K O 2 © b A& M megl | 0.01 — 0.00 1A — —
8N i 2 = & b & | me/L | 0.02 — 0.002 A i — —

9 [® 4§ B e = H| mgL | 0.04 — 0.004 i — —
107 kA4 kOt 7| mg/L | 0.01 — 0.00 1A — —
11 @y W fe 22 % % OY R Al A% B % #E| me/L | 10 — 0.7 — —
1217 v % K 00 % o b & % mgL | 0.8 — 0.28 — —
13l 7 #F Kk O 0k & % mgL | 1.0 — 0. 1A i — —
14 |by #H 1k R F| mg/L | 0.002 — 0.0002 A7 — —
151,4- ¥ £ % ¥ mgL | 0.05 — 0.005 A i — —
16|72 T Y] me [ 0.0 — o004k | — —
171 7 0w oowm A & | mg/L | 0.02 — 0.002 A7 — —
18 ~ 3 7 m v = F L ¥ mgl |0.01 — 0.001 A — —
9| V 7 B 8 = F L o mgL |0.01 — 0.001 ¥ — —
20 [~ v + | me/t | 0.01 — 0.00 1A — —
21 |4 ES k| me/L | 0.6 — 0.06 A i — —
22 |7 = = e | me/L | 0.02 — 0.002 A7 — —
23|~ = = AN L Ll mg/L | 0.06 — 0.001 ¥ — —
24l 27 9w w  EE Bl mg/L | 0.03 — 0.003 A i — —
251 7 v ® 7/ mom A X v mg/L | 0.1 — 0.001 — —
26 | & e M| me/L | 0.01 — 0.001 AT — —
oThe U v = 2 & | mgL | 0.1 — 0.001 — —
28 V7 =m v EE  EB| me/L | 0.03 — 0.003 A i — —
29|17 v ® v 7 g u A % > mgL |0.03 — 0.001 ¥l — —
07 v = &x mg/L | 0. 09 — 0.001 ATif — —
31f&x & 7 A F v K| mgL |0.08 — 0.008 AT — —
208 4 K O F o b & W meL | 1.0 — 0.05A i — —
BT A= AR BEDOAA Y mgL | 0.2 — 0.02A i — —
Mk & = o b & ¥ meL | 0.3 — 0.03 A3 — —
Bl & ™ o b & W met | 1.0 — 0.05A i — —
367 RV Y A K E DAL A W] meL | 200 — 7 — —
Ml v v k% 0t & | meg/L | 0.05 — 0.005ATii — —
38l b w4 A | mgL | 200 5 4 4 6
9Py on, v 7 xvr % (HE) mg/L 300 — 45 — —
40 |74 7 b33 ¥ ¥ me/L | 500 — 79 — —
411k 4 A v o IF M Al met | 0.2 — 0.02A 5t — —
42 1> - 7 2 2 | mg/L | o0.00001 — 0.000001 A ¥ — —
132 = 2 F v 4V FE AL F A — | meL | 000001 — 0.000001 AJif — —
4413 4 A& v Fom I M Al me/ | 0.02 — 0.002 A — —
4517 = 2 — 4 M| me/r | 0.005 — 0.0005 A4 — —
4606 ¥ ®m ( TOC @© B )| mg/L 3 0.3AK0 | 0.3AKMm | 0.3 0.3
47 o H fit oy 7.0 7.0 6.9 6.8
48 S U BERL | BERL | BERL | BEL
49 |5 & RO BEeL | BEeL | BEeL | BEeL
50 | Bl OB 5 IEST 1A i 1A i 1A i
51 | O 2 0.1A | O.1ANM | 0.1 | 0.1

53 o oy #| mg/L | o018k 0.4 0.4 0.3 0.3




A bR AEER B3 - O BB )

JR KRR R (BE [ 1 /K S R e — BE [l 7K k)

BRNTHE

&wE E E 4| B L 117 i T &

Ly — i il ImlH

2| K 1

3| W FI T A K OZEDONAAS W | m/L
40k 8 k& O %2 o b & W | mg/L

5l v vy kX F 0L A& W | meg/L

6|l ¢ K O &= o I & W | mg/L

e £ 2 v = o f{ A& W mg/L
gIox M - 9w A qk A& W] mg/L
N Eiil fil§ i & = | meg/L
07 vtk &> T U mg/L
11 |8 M2 & = F K O W M % 8 %= F| mg/L
1217 v % kX »* 2 o b & ¥ mg/L
BIx v £ &k O 2 o kb A& WP mg/L
14 | i) 1t 7% | mg/L
15 |1,4- ¥ * e A | mg/L
6] > 0 Sy P a s s Y e
17 |~ 7 = = A 74 Y me/L
8y ~ 7 7 v mwm = F L U mg/L
91~ v 7 v = F L mg/L
20 |-X Vg z ~| mg/L
21 | # fiZ| mg/L
22 |7 = = FE W[ mg/L
23 |7 o = AN JL 2l mg/L
24 |~ % = = P W2l mg/L
2%l 7 v = 7 v v X % | mg/L
26 | = H fiz[ mg/L
27 |#& | N N 7 A X V] mg/L
28 |~ ) 7 = = P fi[ mg/L
2917 v = v 7 v nm X % | mg/L
30 |7 =: E RN v A me/L
3 v A 7 v 7t Rl mg/L
2 H K O = o b & W mg/L
B v = s kR E OIS B mg/L
Ml &£ o = o fb A& | mg/L
B k= o b A& W meg/L
Bl r Vv oA KW E O A W mg/L
3Nl v v Kk O & O b & W mg/L
38 |4 1t 2 A Z >| mg/L
9P vy s, w7 x vy onm (B E)| mg/L
40 |7 3 33 w Y| me/L
4112 4 A > K m W M | meg/L
42 | £ 7 A N > mg/L
4312 — A F v A4 YV KR ) % A — | mg/L
41k 4 A o KR om & M Al me/L
457 - J — b Al mg/L
615 #H w» ( TOC O =& )| mg/L
47 |o H il

48 IS

49 |2 £

50 | & gl K
51 | Bl =

117 ¥ &
NI ( 5 = oA )
Hik & M 3 i 100mL 1}
10 7 SEhi ¥ 7E

7 UV 7 b 2 K U ¥ U A

DX e % % 7
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40k 8 k& O %2 o b & W | mg/L
5l v vy kX F 0L A& W | meg/L
6|l ¢ K O &= o I & W | mg/L
e £ 2 v = o f{ A& W mg/L
gIox M - 9w A qk A& W] mg/L
N Eiil fil§ i & = | meg/L
07 vtk &> T U mg/L
11 |8 M2 & = F K O W M % 8 %= F| mg/L
1217 v % kX »* 2 o b & ¥ mg/L
BIx v £ &k O 2 o kb A& WP mg/L
14 | i) 1t 7% | mg/L
15 |1,4- ¥ * e A | mg/L
6] > 0 Sy P a s s Y e
17 |~ 7 = = A 74 Y me/L
8y ~ 7 7 v mwm = F L U mg/L
91~ v 7 v = F L mg/L
20 |-X Vg z ~| mg/L
21 | # fiZ| mg/L
22 |7 = = FE W[ mg/L
23 |7 o = AN JL 2l mg/L
24 |~ % = = P W2l mg/L
2%l 7 v = 7 v v X % | mg/L
26 | = H fiz[ mg/L
27 |#& | N N 7 A X V] mg/L
28 |~ ) 7 = = P fi[ mg/L
2917 v = v 7 v nm X % | mg/L
30 |7 =: E RN v A me/L
3 5 7 o F kR mg/L
2 H K O = o b & W mg/L
B v = s kR E OIS B mg/L
Ml &£ o = o fb A& | mg/L
B k= o b A& W meg/L
Bl r Vv oA KW E O A W mg/L
3Nl v v Kk O & O b & W mg/L
38 |4 1t 2 A Z >| mg/L
9P vy s, w7 x vy onm (B E)| mg/L
40 |7 3 33 w Y| me/L
4112 4 A > K m W M | meg/L
42 | £ 7 A N > mg/L
4312 — A F v A4 YV KR ) % A — | mg/L
41k 4 A o KR om & M Al me/L
457 - J — b Al mg/L
615 #H w» ( TOC O =& )| mg/L
47 |o H il
48 IS
49 |2 £
50 | & gl K
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